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1. ASWAB R | 24993 213 (MESY)
1,215 1,215,000=
[202] 446,000 | AFE2SHI(MIS2YD|EHEHI)
[210] 217,182 | 29|
[210-01] 170,552 | LBt~
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30,817 | 5. dSHABENE =2H|
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11,038 11,038,000=
7. NHE3HA L SASAOIRIRAT AlolE
80,457 80,457,000=
8. (IS AZ2EHE K0!
500 5,000%1008=
9. ASZMALEMET XI& HMIHEN 2 E9iiz |0
5,000 5,000%1,0008=
10. USURIEEZA AE U AIREE 2
1,765 | 1,765,000=
11, MIZAS 22 Bt
13,250 13,250,000=
[210-02] 32,071 | 3322 £ HAl
12,751 | 1. SASAIROIE AlIFEHN 2 REE
ol BS223
4,471 270*30S*46Ax128=
Lt So1#
8,280 1,500%108*46H Ax12& =
2. ASUNABEI |2 EXMF2 Mz
19,320 35,000%46 I Ax128=
[210-05] 1,660 | S20HAHI
1. Olah & X2UHE 2 0HAH|
380 5,000%38L*2H=
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12,000 | XHHISH|
1. ZAD| FAXEE 2
12,000 |  6,000,000%2CH=
3,150,000 | AFI2ZHI(ZEDIERZHI)
3,150,000 | 2012
3,150,000 | 2012
2,004,944 | 1. Yer2y|
O Yggy|
1,516,473 | 1,516,473,000=
Ll 22Q2YHAl
263,805 |  263,805,000=
Ch S2044lH|
78,755 |  78,755,000=
OF. xi2e]
3,420 | 3,420,000=
HE. =21 M|
80,337 | 80,337,000=
toIEr2 |
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o 2UHoHHI
193,956 |  193,956,000=
Lt =220
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6. FEXHA
34,816 |  34,816,000=
1,187,000 | 7. 33
o 2EgEIe
311,619 |  311,619,000=
L. s33e
825,381 |  825,381,000=
335,744 | 8. H25l2d
Oh. Yere2H|
3546 |  3,546,000=
Ll 22R3LHAl
14,084 |  14,084,000=
Ch 22|
189 |  189,000=
2t S20HAl|
1,108 | 1,108,000=
O Y=g
186 |  186,000=
bl 2xE
189,890 |  189,890,000=
AL AlEEBIR XY
114,608 |  114,608,000=
Of. SIErANH
9.025 | 9,025,000=
Xt JIEr2 |
913 |  913,000=
xt. 2Ufolt]
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[Etel © HR, 18]
S 20104 A=
B = LK o
Jb OIXF4e
-84,000 |  -84,000,000=
Lt MEE 0123
~748,000 |  —748,000,000=
10. EXH
-591 | -591,000=

[9000] 10,000,000 | JIZ22HHA(GIESD)

[9004] 10,000,000 | LHHIIZ0A SIDI2222 HE=2(0ES)
[840] 10,000,000 | 2XHIIZ20AH SXDI2222 HE2Z(HED)
[480] 10,000,000 | OIE2

[480-03] 10,000,000 | BBJI20IE2
1. SSX222DI20
10,000,000 |  10,000,000,000=

[9700] 150,847,839 | OIRAIZRE

[9704] 150,847,839 | IR AIS22(LSHAZEIID)

[971] 685,839 | =280l
[470] 685,839 | OIXIZ ¥ SIISAMNLY

[470-01] 685,839 | Et=280IXI2
1. =28 oxl2
685,839 | 685,839,000=
[972] 50,430,000 | S&28II2H0lXI
[470] 50,430,000 | GIIXIZ ¥ RIS
[470-02] 50,430,000 | S3=28II20IXI2
1. SASSIIA0XIS
50,430,000 |  50,430,000,000=
[973] 99,732,000 | HIS3I28II20XI
[470] 99,732,000 | GIXIZ ¥ KRII=AL
[470-03] 99,732,000 | HISSI2EJIZ0XIS
1. HIS328012 OIXI2
99,732,000 |  99,732,000,000=
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5. 7| %A A3
(9] © k]
o 20082 2009 A& 2010 A& ¥ a1
T 7 g % + A 200992 7 g 201092 7
O 24 2,152 82 82 2,234 82 2,316
- ARZA 2,152 82 82 2,234 82 2,316
- AEA - - - - - -
O s 911,488 109,384 109,384 1,020,872 122,198 1,143,070
O 9% 218,738 - - 218,738 - 218,738
e RER = - - - - - -
- 323 - - - - - -
- 7 28,738 - - 28,738 - 28,738
& - 93] 190,000 - - 190,000 - 190,000
= - HEsa§71H - - - - - -
3 - 7]EpRIzt - - - - - -
A | @z - - - - - -
O +&54 688,860 109,879 109,879 798,739 106,708 905,447
- AL g9 - - - - - -
- Ak zk4¢) 510,473 91,838 91,838 602,311 97,254 699,565
- AR o] A4 30,164 1,800 1,800 31,964 2,100 34,064
- HIzbo A 148,223 16,241 16,241 164,464 7,354 171,818
- 7]g - - - - - -
O BAAH - - - - - -
EN 1,821,238 219,345 219,345 2,040,583 228,988 2,269,571
O ARAZ 1,211,383 216,345 321,037 1,532,420 228,230 1,760,650
o grarge 262,756 - - 262,756 - 262,756
a | O AAFAFED - - - - - -
@) | O 71erdey 63,160 9,310 9,776 72,936 9,363 82,299
O BF7HAA 4,697 - - 4,697 - 4,697
2 A 1,541,996 225,655 330,813 1,872,809 237,593 2,110,402
= = 4(A-B) 279,242 26,310 A111,468 167,774 ~8,605 159,169
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6. 44 3o X
(9] ; minkel)
20099 AE
T 201092 A E(B) Z7HB-A)
[ T AWl

O &A1t 591,905 532,197 599,809 67,612
2 O IAAME 31,291 31,365 41,343 9,978
O gkt - - - -

At
O FAb7]ef A4t - - - -
AFAEEA 623,196 563,562 641,152 77,590
O &5 - - - -

A}
TAEY 188,252 188,252 308,310 120,058

=
O 71epF-A) - - - -
52 gHA| 188,252 188,252 308,310 120,058

A=i]
O Aes - - - -
O AEJoJF - - - -
- O o]ojdof+= 434,944 375,310 332,842 A42.468
A O AEZA - - - -
AL SHA| 434,944 375,310 332,842 A42,468
AHE 2 B FA 623,196 563,562 641,152 77,590
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7. FRAARETAR

(el @ oirkel)
TE 200940 A1 20102 AEB) SHB-A)
3 = ER1%Y

01. dA(Akshele] 313,687 418,235 340,674 AT7,561
02. G & 299,938 373,416 383,315 9,899
03. AR DFIN(1-2) 13,749 44,819 A42,641 A87,460
04. Ldrzha)n) 8,188 8,654 9,363 709
05. @Akl (3-4) 5,561 36,165 A52,004 A 88,169
06. ARl 53,960 11,795 9,536 A2,259
07. AR & - - - -
08. 7ol (5+6-7) 59,521 47,960 A42,468 ~90,428
09. 5ol - - - -
10. 58&4 - - - -
11. AR A =0l 9] (8+ 9-10) 59,521 47,960 A42,468 290,428
12, HlAm & - - - -
g7 & o o 59,521 47,960 A42,468 A90,428
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